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Example

Box A
,

mass me-long ,
rests on a

surface

inclined at 0 =300 to the harizontal
.

It is connected by a lightweight card,

which passes over a pulley
of mass 5lg

und radius 0 . 1 m
,
to box is which

hangs freety
cas if the coefficient of

static friction

is
us

= 0 . 40
,

deturne the

whimum mass of B before it

T
slides down the incline.
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/Ma=rey-
- Imaa+ ragSist FINAgCosO)

=-Ira=(a+re)a + may(so+

=> (Ma+Ma + (M)a = g(mi - my(s0 +mc0))

=
a = y(mx -ma(0 +r(0)]
-

ma + my + Er

= 1
.
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2 Who is I ?

Solutio

L = = 14 . 2 rad #

T2









Solution ~11

y(t) =Acos(wt
-x)

↑
+3

3 k = 55N/y = 0 ↑ d=0. 25-
(a)
Now

,

u =J 1
M=0. bus

Vo = 4-
=9 . 57 rads

iss we went A anda

givend and No

herz, y(t
=0) = - d

~(t = 0) =c=

who is UC ?

~(t) = = (Acs(wt -x)

= An Sin (wt
-y)

So
,

set up contraits

y(+ = 0) =
-d = Ado(-4)

~(t) = +wo
= -Aws(-4)
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Soldie

At port 3 for winimm Light,
N = 0

a = wh3
-

N
V ~ => nry
vmy => Us=ga

Nor
,
consentia of

argy

E
,
= Es

- k
,
+ 0

,
= k

y
+ 03

-> far ,
"+mgh=tmrs + 0

> h = + 50 - - ,2) = Eg (g) - -, 2)
29




